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(05 Marks)

50, will be treated as malpractice.
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a§ ob 22& +“"y z= 3 (05 Marks)

g § c. Find all the eigen values and el%gn  vectors of the mag'l% A (06 Marks)

: g L

X

;f 5 2 a. Reduce the matrix

g < ;

ol n form and hence find *itfs*‘rank. (05 Marks)

20

g2 T 4 =

=15 b. using Cayley-Hamilton theorem. (05 Marks)

g % ;@ . 2 3 ¢

g c. Solve the following systﬁ%ﬂ%quatlons by Gagss elimination method.

§ K x+y+z=9

g % ~ % 2xty-z=0%, Y’

g = ™ 2%+ 5y+ 7ZX‘“‘—“~ @2 y (06 Marks)

o0 @ &gg« a-i‘%‘ : E%

£ % T\ﬁodule—

2% 3 a Solve (D’ ﬁ@g’w 11D-6)y= m J (05 Marks)

g & 2

8 5 b. Solve j—— -6— :y +9y= Smﬁ (05 Marks)

. 4 X

— c. Solve (D*+ 1)y = tanx' b the method of variation of parameters. (06 Marks)

4 y = oy P

o OR

£ 4 a. Solve (D +3D + )y = 2cos 2x (05 Marks)

§ b. Solve (D + 2Dt )y = 2x +x° (05 Marks)
c. Solve (D*-2D+35)y= e by the method of undetermined coefficients. (06 Marks)
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Module-3
Find the Laplace transform of cos®3t. : & (05 Marks)
Find L[e™" sin2t] o (05 Marks)
. - 2 0<t<2 iy, °
Xpress =
P 4 t>2 T
in terms of unit step function and hence ﬁndL[f(t)] (06 Marks)
OR ‘
Find Laplace transform of t* cos at r (05 Marks)
1
Find L{l —° } (05 Marks)
t
Find the Laplace transform o’fthe function
f(t)y=E s1n[7-c ) 0 < t <w giventhat f{t+w)= f(t) (06 Marks)
w
s Module—4
Find the inverse Laplace transform of & in
s2—3s+4 4 6 3
e (05 Marks)
S g
(05 Marks)
(06 Marks)
Find L' [——(S = 62) :l (05 Marks)
S e . T
Find L —3-51"2-—— (05 Marks)
(s=2)(s+1)
Solve by using Laplace transforhis ,,,,,
20 Uy (% )
%t«g—%» Ky =0 glven thatv y(0)=2, y'(0)=0. (06 Marks)
Module:s
IfA and B are any two events then prove that
P(AUB)= P(A” +P(B) - P(An B)# (05 Marks)
3 hite, 5 black and 6 red balls. If a ball is drawn at random what is the
probability that it is either red or whlte (05 Marks)

Three machines A, B, C produc%s 50%, 30% and 20% of the items in a factory. The
percentage of defective outputs are 3, 4, 5. If an item is selected at random, what is the

probability that it is defectlve‘? ‘What is the probability that it is from A? (06 Marks)
OR

State and prove Baye’s theorem. (08 Marks)

If A, B are two cvents having P(A) = % , P(B) = l and P(A N B) = L] Compute the

ilowige & 3CMRIT LIBRARY

() PAB)_ (i) P(B/A) G P(A/B)  INSPHEREY 990037 (46 Marks)

o | / ke 2 Of2 *



